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7 100kN/ Mm% 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/mM%#8Z% — - ~ — —|3mZiBZ D - ~ — — —
Fhst 100|000 ~ 462 57.60 | #Fnst | 000 ~ 0.00| 1.60 8.08 Thst 1.00 | 5.00 ~ 5.00 57.60 | #hLS | 500 ~ 5.00| 1.60 8.08
2 100kN/mM%EBZ 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/mM%#8Z% — - ~ — —|3mZiBZ D - ~ — — —
Fhst 100|000 ~ 749 95.77 | #FNS | 000 ~ 749 1.99 10.07 Thst 1.00 | 6.00 ~ 1066 95.77 | #hLS | 500 ~ 1066 1.99 10.07
3 100kN/mM%EBZ 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/mM%#8Z% — - ~ — —|3mZiBZ D - ~ — — —
Fhst 100|000 ~ 661 83.34 | #FnUst | 000 ~ 661 1.87 9.47 zhst 100|500 ~ 819 835.34 | #nLS | 500 ~ 819 1.87 9.47
4 100kN/mM%EBZ 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/mM%#8Z% — - ~ — — |3mZiBZ D - ~ — — —
Fhst 100|000 ~ 646 81.31 | #nUst | 0.00 ~ 646 | 2.07 10.46 Thst 100 | 5.00 ~ 9.56 81.31 | ZnLS | 5,00 ~ 9.536| 2.07 10.46
5 100kN/mM%BZ 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/mM%#8Z% — - ~ — — |3mZiBZ D - ~ — — —
Fhst 100|000 ~ 438 54.67 | #nS | 000 ~ 4.38| 2.50 11.61 zhst 100|600 ~ 737 54.67 | #nLS | 500 ~ 7.37| 2.50 11.61
P 100kN/mM%BZ 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/m%#8Z% — - ~ — — |3mZiBZ D - ~ — — —
Fhst 100|000 ~ 430 53.68 | #hS | 000 ~ 430 2.26 11.42 zhst 100|500 ~ 683 53.68 | ThLS | 500 ~ 683 2.26 11.42
7 100kN/mM%BZ 5 — - ~ — — |3mEFBZB| — ~ — — — | 100kN/m%#8Z% — - ~ — — |3mZiBZ D - ~ — — —
ZFhst 100|000 ~ 614 77.05 | FhLS | 000 ~ 614 | 1.82 9.21 zhst 100|500 ~ 717 77.05 | TS | 500 ~ 7.17| 1.82 9.21
8 100kN/ Mm% A5 — - ~ — — |3mEBZDH| — ~ — — — | 100kN/mM%E#BZ5 — - ~ — — |3m%EZ 5 - ~ — — —
zhs 100|000 ~ 612 76.73 | TS | 000 ~ 612| 1.84 9.29 ZhnLst 100|600 ~ 717 76.73 | TN | .00 ~ 717 | 1.84 9.29
9 100kN/ Mm% A5 — - ~ — — |3mEBZDH| — ~ — — — | 100kN/mM%E#BZ5 — - ~ — — |3m%EZ 5 - ~ — — —
ThLst 1.00 1 000 ~ 598 74.96 | ThLSY | 000 ~ 000 1.70 8.60 Fhst 1.00 | .00 ~ 6.83 74.96 | TnRS | 5,00 ~ 683 1.70 8.60
10 100kN/m%E#Bz25| 1.00 | 000 ~ 006\ 10091 |3mEB2B| — ~ — — — | 100kN/mM%#825 | 1.00 | 1093 ~ 1111 100.91 |3mZi#BZ3 - ~ — — —
Ths 100|006 ~ 785 100.00| FhLH | 000 ~ 785| 2.06 10.41 st 1.00 | 6.00 ~ 1093| 100.00| ZFnLS | 5,00 ~ 1111 2.06 10.41
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ ZhnLst ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Thst ~ ZhnLst ~ ZhnLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ ZhnLst ~ ZhnLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Zzhst ~ st ~ ZhnLst ~ Zhust ~




